
	
LE NOMBRE DECIMAL DU JOUR 

	
	
	
	
	
	
	
	
	

	
	
		
	
	

	
	

	

	
	

	
	
	
	 	
	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
Place-le	dans	le	tableau	:	
	

Centaines	 Dizaines	 Unités	 Dixièmes	 Centièmes	 Millièmes		

	 1	 3,	 6	 8	 2	

	
	

13,682	

	
	
	

Donne	sa	partie	entière	:	

	
																				13	
	

Décompose-le	en	somme	:	
13	+	0,6	+	0,08	+	0,002	

Encadre-le	entre	deux	entiers	consécutifs	:	
13	<	13,682	<	14	

	
Ajoute	lui	0,5	:		14,182	
	
Ajoute	lui	0,25	:					13,932	

Compare-le	à					13,78									:	
	

13,78						>							 												13,682		 	

	
Multiplie-le	par	10		:			136,82	

	
Multiplie-le	par	100	:				1368,2	

	
Divise-le	par	10	:		1,3682	

	
Divise-le	par	100	:				0,13682	

Donne	l’arrondi	au	plus	proche	:	
	
	 A	l’unité	:			13	
	
	 Au	dixième	:				13,7	
	
	 Au	centième	:			13,68	

Place-le	sur	la	demi-droite	graduée	:	
13,68							13,682	

	
	
	

Donne	sa	partie	décimale	:	

	
																			682	
	


